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10.

Worksheet 1

15 x 6 tens = hundreds
20 x 8 tens =

100 x 2 tens =

14 x 100 tens = hundreds

Estimate the given product by rounding off the multiplicand to the nearest ten.
22x6

Estimate the given product by rounding off the multiplicand to the nearest
hundred.

274 x 8
Multiply 31 by 2.
Multiply 89 by 3.

There are 37 baskets and each basket has 9 apples in it. How many apples are
there altogether?

Monalisa has a tea party and she orders 35 pizzas. She cuts each pizza into 6
slices. How many slices are there altogether?
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Worksheet 2

14 x = 1400
60 x = 6000
300 x 10 =
15 x 300 =

Estimate the given product by rounding off the multiplicand to the nearest ten.
25%x6

Estimate the given product by rounding off the multiplicand to the nearest hundred.
504 x 7

Multiply 22 by 3.

Multiply 76 by 5.

Veena has 15 packets of crayons and each packet has 8 crayons in it. How many
crayons does Veena have altogether?

A store has 4 boxes of chocolates. Each box has 500 pieces. How many pieces
are there altogether?



Answers to Worksheet 1
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2000

120

62

333 apples

Answers to Worksheet 2
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100

3000

180

66

120 crayons
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1600

140

2400

267

210 slices

100

4500

3500

380

2000 pieces





